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@D Calculate the volume of each of these spheres. Give your answ

a Radius 3 cm b Radius 6 cm

ers in terms of m.

e Diameter 20 cm

pheres. Give your answers in terms of .

@ Calculate the surface area of each of these s
c Diameter 14 cm

a Radius 3 cm b Radius 5 cm

@D Calculate the volume and the surface area of a sphere with 2 diameter of 50 cm-

@D A sphere fits exactly into an open cubical box of side 25 cm..CalcuIate the following.

a the surface area of the sphere

b the volume of the sphere

A metal sphere of radius 15 cm is melted down and recast into a solid cylinder of radius 6 cm.

Calculate the height of the cylinder.

Lead has a density of 11.35 g/em’, Calculate the maximum number of shot (spherical lead pellets) of
radius 1.5 mm which can be made from 1 kg of lead.

@ Calculate, correct to one decimal place, the radius of a sphere

: 2
a whose surface area is 150 cm b whose volume is 150 cm’.
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A metal sphere of radius 15 cm is melted down and recast into a solid cylinder of radius 6 cm.

@ Calculate the height of the cylinder.
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Lead has a density of 11.35 g/em’, Calculate the maximum number of shot (spherical lead pellets) of

radius 1.5 mm which can be made from 1 kg of lead. .
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@ Calculate, correct to one decimal place, the radius of a sphere
b whose volume is 150 cm’.

a whose surface area is 150 cm?
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Frustums
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A frustum is made by removing a small cone from a large cone as shown in the diagram.
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The frustum is made from glass. ~
The glass has a density of 2.5 g / cm? 3
/
13
Work out the mass of the frustum.
Give your answer to an appropriate degree of accuracy. v
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